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JUNIOR ACCOUNT ASSISTANT (RPC) IN THE DEPARTMENT OF KARNATAKA STATE

Total Marks : 100

AUDIT AND ACCOUNTS

Examination held on 17.12.2023 (AN)

Paper-2 (Subject Code: 563)
KEY CHART
Question Booklet Series - 'P'

1 Mark for each question

Question Key Question Key Question Key Question Key
Number | Answer | Number | Answer | Number | Answer Number Answer
1 2 26 2 51 2 76 3
2 2 27 3 52 1 77 2
3 2 28 2 53 4 78 2
4 1 29 1 54 3 79 2
5 3 30 2 55 1 80 4
6 2 31 2 56 2 81 4
7 4 32 2 57 2 82 2
8 1 33 3 58 1 83 4
9 3 34 1 59 3 84 2
10 2 35 2 60 4 85 1
11 1 36 1 61 3 86 2
12 2 37 4 62 4 87 3
13 1 38 1 63 4 88 3
14 2 39 2 64 1 89 4
15 3 40 1 65 2 90 2
16 3 41 2 66 4 91 1
17 1 42 4 67 3 92 1
18 3 43 2 68 4 93 1
19 4 44 2 69 1 94 4
20 1 45 3 70 2 95 2
21 2 46 1 71 3 96 2
22 2 47 2 72 3 97 1
23 2 48 1 73 2 98 3
24 2 49 2 74 4 99 3
25 3 50 3 75 2 100 3

Note: Every question for which wrong answer has been given by the candidate, % th of the marks
assigned for that question will be deducted.
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GENERAL ENGLISH

Direction : For Question No. 36, e1ach
question contains @ paragrqph of 6
sentences. The first and the sixth sentences
are given in the beginning and end and
numbered 1 and 0 respectively. The four
sentences in the middle are jumbled and
labelled P, O, R and S. You must identify, the
proper order of these four seniences and

shade/blacken the option that correctly
identifies this sequence.
36. 1. Chinua Achebe, a prominent

African writer was born in 1930 in a
village called Ogidi in Eastern
Nigeria.

P. ‘Things Fall Apart’ is his first novel
which secured him a permanent
place in the literary map and history
of the world.

Q. He was one of the very young men
to get degree in 1953.

R. After completing his early education
in the village mission school, he
joined university college at Ibadan
to obtain his degree.

S. From 1954 onwards he served in
Nigerian Broadcasting Corporation
in various positions and finally
became the director of the service
section called “Voice of Nigeria’ at
Lagos city.

6. Now, Achebe is in the forefront of
African Literature and he has been
rightly considered the voice of the
African Negroes.

The correct sequence is :

(1) RQSP (2) QSPR

(3) RSPQ (4) SQRP

Directions : For Question Nos. 37 to 39, a
passage has been given. In the passage, some
of the words have been left out. You have to
r:ead the passage and try to understand what it
is h;zbou{. Then fill in the blanks with the help of
;he options .given below it and shade/darken
dappropriate circle in your answer sheet,
563-p

(6)

Basavanna’s Vachanas are filled with image,
and rhythm. He criticized 37 ang
imposters mercilessly. God is not with thog
filled with lust and lies. Just as grass and dipy
on the threshold reflect the absence of the
master, lies and lust in a soul, mark the
absence of the master-God. Basavanna creates
an image which is parallel to the explanatiop
that follows. The first one is a realistic picture
ofa 38 house with weeds growing on the
threshold and
onlooker wonder whether the master of the
house is at home. So is the tale of a sou
deprived of the Lord and such a mind which is
filled with __39
intention is that one should keep one’s home
clean and one’s mind too.

37.

38.

39.

40.

41.

dust deposits, making ap

and impure desires. The

What is the correct answer for the blank
(37) ? Select from the options given below :
(1) great people

(2) compassionate people

(3) good people

(4) hypocrites

What is the correct answer for the blank
(38) ? Select from the options given below :
(1) deserted (2) occupied

(3) renovated (4) whitewashed

What is the correct answer for the blank
(39) ? Select from the options given below :
(1) selfless wishes

(2) materialistic wishes

(3) true values

(4) good thoughts

Choose the word which is the synonym
or -nearest to the meaning of the
underlined word in the given sentence :
“Description is the art of translating
perception into words”.

(1) Awareness (2) Arrogance
(3) Affluence (4) Ambience

Choose the word which is opposite in
meaning to the underlined word in t
following sentence :

“The Association of Paddy growers has

pleaded for tax exemption™.
(1) requested (2) demanded
(3) conducted (4) conceded

(¥ Scanned with OKEN Scanner
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Prasad is notorious for not keeping

up his promises.
B. The mayor appreciated the people of

the town for felicitating the w:riter.
(1) Harnessing (2) Homlauru?g
3) Humouring (4) Barricading

47. A.

Directions : Read the following passage and
answer the items that follow (Question Nos.
48 to 50).
Vour answers to these items should be based
on the passage only.
Passage

Many of the plants that are poisonous in
large quantities are useful medicinally if
taken in very small quantities. Foxgloves are
poisonous if eaten, but the drug digitalis is
extracted from the plants, and this is used to
treat people with heart diseases. The Deadly
Nightshade gives belladonna which is used
as a sedative and Nux vomica tree supplies
strychnine, which can increase appetite.
However, both of these medicines must be
taken in small doses; they are poisonous if
that dose is exceeded. Before men could
manufacture drugs, plants were their only
source. The Chinese were using opium, from
poppies, and the South American Indians
chewing coca leaves as painkillers long
before the appearance of drugs called heroin
and cocaine. Now that these drugs are
distilled from the plants and used at greater
strengths, they have become addictive drugs,
causing as much distress as relief from
pain. Other drugs are not as dangerous.
Quinine, which helps to bring down fever, is
extracted from the bark of the cinchona tree,
which grows in South America. Camphor,
castor beans and cloves all give oils with
medicinal uses, and these are only a few of
the many plants used to ease illness. Another
fungus must be included here, the Penicillin
fungus, which gives penicillin, an invaluable
antibiotic.

563-P

(8)

48.

49.

50.

51.

According to the passage Quinine is
extracted from

(1) the bark of cinchona tree

(2) the cinchona flowers

(3) the stem of the cinchona tree

(4) the buds of the cinchona tree

Which of the arguments is correct

according to the passage 7

(1) Medicinal plants are beneficial
always.

(2) Medicinal plants are beneficial if
taken in small quantities.

(3) Medicinal plants can
according to individual tastes.

(4) People should avoid medicinal
plants.

be used

Choose the odd pair from among the
words given below :
(1) Deadly Nightshade-belladonna

(2) Nux vomica tree-strychnine

(3) Poppies-coca leaves W

(4) Quinine-cinchona tree &

In Question No. 51 a sentence has been

given in active/passive voice. Out of the

four given alternatives, select the one

which best expresses the same sentence

in passive/active voice.

“The sailors sighted land after several

months”.

(1) Land was being sighted by the
sailors after several months.

(2) Land was sighted by the sailors after
several months.

(3) Land has been sighted by the sailors
after several months.

(4) Land will be sighted by the sailors
after several months.

(¥ Scanned with OKEN Scanner
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Gut of the four groups given, select the
~roup/groups that consist of all correct
~ lural formed from singular.

. a. money-moneys
b. donkey-donkeys
c. monkey-monkeys
d. hat-hats
;3. a. knife-knives
b. wife-wives
¢. sheep-sheep
d. cloud-clouds
C. a. cupboard-cupboards
b. table-tables
c. chair-chairs
d. furniture-furniture
D. a. mice-mices
b. computer-computers
c. doll-dolls

d. book-books
Select the code for the correct answer
from the options given below :
(1) Band D only (2) A and C only
(3) AandDonly (4) B and C only

Out of the four groups given, select the
group/groups that consist of all correct
abstract nouns formed from adjectives.
A. just-justice

kind-kindness
mercy-mercifulness
serene-serenity
happy-happiness
truth-truthfulness

high-height

broad-breadth

sad-sadness

great-grateful

honest-honesty
dishonest-dishonesty
faithful-faithfulness
loyal-loyalness

dull-dullness

useful-usefulness

Select the code for the correct answer
from the options given below :

(1) AandConly (2) AandBonly
(3) AandDonly (4) BandDonly

o
pooppooPAao TP Al TP

563-p

(7)

44,

45.

46.

Add a suitable question tag to the
sentence given below :

“The workers were too tired
working for long hours at a stretch”.
(1) wasn’tthey ? (2) weren’t they ?
(3) were they ? (4) were they or not ?

after

Match the following sentences with the
figures of speech used in them :
Sentences :
Shiny is as sly as a fox.
Ravi is a night owl.
The sun smiled down on the world.
I know an old man who is older than
the hills.
The battle started and the cannons
went, boom, boom, boom.......
Figures of speech :
I. Simile II. Personification
I1I. Metaphor IV. Hyperbole
V. Onomatopoeia
Select the code for the correct answer
from the options given below :

A B £ D E

oW @

t

G n Vv I
G m, v v, 1
(Tl IV Y
FANR T T IV V.

For Question Nos. 46 & 47, you have to
choose the word from the options given
below which has the same meaning and
can be used in the same context as the
underlined word in both the sentences
and mark the correct answer in your
answer sheet.

A. Forgetfulness can be a boon in some
situations.

B. Many important books have gone
out of circulation.

(1) oblivion (2) obsession

(3) oppression 4 prevention

(¥ Scanned with OKEN Scanner
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9. In the following question a sentence has
been given in direct/indirect speech.
Out of the four given alternatives, select
the one which best expresses the same
sentence in indirect/direct speech.
He “The people
stocking up grain anticipating drought”.
(1) He complained that the people were

complained, are

stocking up grain anticipating
drought.

(2) He complained that people stocked
the grain anticipating drought.

(3) He complained that the people will
stock the grain anticipating drought.

(4) All the statements above are correct.

Direction : For Question No. 53, a word a
phrase is given followed by four options. You
have to select the option which explains the
of the

shade/blacken the correct answer in your

meaning word/phrase  and

answer sheet.

Example : Abysmal
(1) Mixed (2) Hollow
(3) Horrifying (4) Superficial

Explanation : Abysmal means ‘Horrifying’,
80, option (1) is correct and you must have to

shade/blacken the same in your answer
sheet. |

53. Divulge
(1) Decline (2) Explore
(3) Conceal (4) Reveal
563-p

P

©)
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Direction : For Question Nos. 54 & 53, you
have to choose the word from the options
given below which has the same meaning and
can be used in the same context as the
underlined word in both sentences and mark
the correct answer in your answer sheet.
Example :

A. She absolutely detests the meaningless

soaps on television.

B. They abhor the ubiquitous corrupt

officers.
(1) Dislike (2) Abject
(3) Afraid of (4) Admire

Explanation : Here the correct word is
dislike which can replace the underlined
word in both the sentences in the best way
and the meaning of both sentences will
remain the same. So for this question, you
have to select the option (1) and mark the

same in your answer sheet.

54. A. the student prepared for his exams

assiduously.
B. the baya weaver bird built the nest

unrelentingly.

(1) careless (2) neatly
(3) persistently (4) meticulously
55. A.

The king was offended by the
impertinent remark of his minister.

B. The Director’s accustomed
insolence silenced his  timid
colleagues.

(1) disrespectful  (2) docile

(3) devastating (4) delude

(¥ Scanned with OKEN Scanner
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irectlon ¢ In Question Nos. 56 & 57, there
e sentences, Which are divided and
—umbered into 3 parts & one of the parts may
L ontain an error. Identify the error by (1), (2)
<r (3) given under the parts of the sentence. If
sbere is no error, mark (4). Shade/blacken the
c orresponding circle in your answer sheet.

‘War and Peace’ / were written /

» ) @)

by Tolstoy. No error

3) 4)
57 A bird in hand / is worth to / in the bush.
) (1) (2) - 3)
No error

4)

Direction : For Question Nos. 58 & 59

underlined idiom_or phrase has been used in
the sentence. You have to choose the sentence
which explains the correct meaning of that and
shade/blacken the correct answer in your
answer sheet.

58. The cost of living has increased so much
that he finds it difficult to make both
ends meet.

(1) The cost of living has increased so
much that he finds it difficult to live
within his income.

(2) The cost of living has increased so
much that he finds it easy to live
within his income.

(3) The cost of living has increased so
much that he enjoys his life.

(4) The cost of living has increased so
much that he hates his life,

563-p

59. He had an axe to grind.
(1) He had an axe to cut trees.
(2) He had an axe to save trees.
(3) He had a personal interest in the
matter,
(4) He did not have any interest in the
matter,

Direction : Read the following passage and
answer the questions that follow. Question
Nos. 60 to 62, your answers to these questions
should be based on the passage only.

RK. Narayan was an Indian writer
known for his work set in the fictional town of
‘Malgudi’ which was first introduced in
‘Swami and Friends’. More than a dozen
novels and many short stories that followed
were set in Malgudi. The small South Indian
city of Malgudi, a literary microcosm was later
compared to William Faulkner’s
Yoknapatawpha country by critics. Many have
reason to believe that Malgudi is inspired from
two places in the old Bengaluru city —
Malleshwaram and Basavanagudi. ‘Mal’ from
the former place and ‘Gudi’ from the latter
together form the name Malgudi. Narayan’s
mentor and friend Graham Greene was
instrumental in getting publishers for
Narayan’s first four books. Narayan portrays
the peculiarities of human relationships and
the ironies of Indian daily life in which
modern urban existence clashes with ancient
tradition. His style is graceful, marked by
genial humour elegance & simplicity.

60. Narayan’s style of writing is marked by
(1) difficulty
(2) complexity ,:I.r%
(3) atrocity ;
(4) simplicity

(10)
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What does microcosm mean ?
(1) Microscope

() Microbe

(3) Miniature representation
(4) None of the above

61:‘.

{t’s believed that ‘Gudi’ in ‘Malgudi:’
comes from

(1) Gandhada Gudi

(2) Chandada Gudi

3) Devara Gudi

ﬁ@ Basavana Gudi

Direction : To answer Question Nos. 63 & 64,
choose the word which is an antonym or the
most opposite in meaning to the underlined
word and shade/blacken the corresponding
circle in your answer sheet.

| o
ﬁ;

63. The complaint against the Manager was

genuin
(1) true (2) positive
(3) generous (4) spurious

64. He told her not to worry about such a

trivial problem.
(1) important (2) frivolous
(3) small (4) flimsy

Direction : For Question Nos. 65 & 66,
choose the appropriate prefixes 10 the
Jollowing words in respective order 10 form
their antonyms and shade/blacken  the
corresponding circle in your answer sheet.

65. Order, human, patient, regular
(1) ir, dis, in, im  (2) dis, in, im, If
@) in, dis,im,ir (4) in, ir, in, dis

66. Literate, faithful, proportionate, violence
() un-,im-, dis-, il- (2) ir-, il un~ I
3) non-, ir-, il-, un- (4) il-,un= dis-, non-

563-p

(11)

Direction : For Question Nos. 67 & 68,

choose  the prepositions  and
shade/blacken the correct answer in your

correct

answer sheet,

67. Shespeaks  a Scottish accent.
(1) by
(2) from
(3) with
(4) to
68. Ithanked him __ the cooperation.
(1) at
(2) with
3) in
(4) for

Direction : Question Nos. 69 & 70 are based
on the degrees of comparison. Fill in the
blanks with the most appropriate word from
the given alternatives and shade/blacken the

corresponding circle in your answer sheet.

69. Sheisa _ person.
(1) just
(2) more just
(3) most just
(4) justice

70. Stage actors are _____ than those, who
act in film.

(1) Most talented

(2) More talented

(3) Talented

(4) Least talented

4
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COMPUTER KNOWLEDGE

Excel 39, ¥R g Swews O

BB
aﬁe)aﬁai‘)* :;ai:q TROOR
(1) 2o BROTY, ToOR’ BXOT Boeds
B’ §5° ol
(2) S HeFIQTON Be¥  ToOWOIT®

e B §F° SRR

(3) O BBEOTY, ORI WO RBODY,
Be* §5° INA

(4) RO FBEOT POT® B NN,
BLeF 43¢ IR

B ROTY,
RODTI, JEEFRLO B FINS 030
POBI, WYRRZE ?

BRZ OB WO}

(1) days()
(2) date()

%3) now( )

Egﬁ@ date time( )

7

Www.youtube.com .05 eV EoEoINAD
(1) cﬁ.raaigjas‘

(2) URL

(4) Swrus

563.p

TA. ﬁi,wo‘djor:‘n% SNTWBITD.
(1) addd (wa;)
(2) 2D (des‘r)
(3) a@nvas% 238RORYTO

(4) aFBLP

}A—aﬁ:w‘ 257800000 BeORRWBITOT FHOT

nowx meg

(1) 15MB
(2) 25MB
(3) 45MB
(4) 10 MB

TR TR0 FRSOTY, TToRIEL
FINS o3n= Dot eI’ GEOIJE”%
WIRRRIST ?

(1) F5

(2) Alt+F5

(3) Shift+F5
(4) Ctrl +F5

/ 3,5 1190, Leine 18 s ?

(1) A @ TR0 FORY, 2B,
TESF ORI

(2) B @ Wi FeS0 word T ed
(3) B FeTO ROTeD emc(}; e3NeroN TR

(4) R BNV LSTEInIRY

RedTPROROL,

(12)
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In Excel, you can auto-fit the width of

71.
the column by
(1) Double-clicking on the column
name on the column header.
(2) Double-click on the cell pointer in
the worksheet.
(3) Double-clicking on column right
border on the column header.
(4) Double-clicking on the column left
border of the column header.
72. Which Excel function can be used to
display the current date and time in a cell ?
(1) days()
(2) date()
(3) now()
(4) date time( )
73. www.youtube.com is an example of
(1) Domain
(2) URL
(3) Source code
(4) Website
563.p

(13)

74.

78,

76.

77.

Hyperlinks can be
(1) Text
(2) Pictures E
(3) Drawing objects
(4) All these

In Gmail account, what is the maximum

size limit to send a file ?
(1) 15 MB
(2) 25 MB
(3) 45 MB
(4) 10MB

Which of the following shortcut key is
used to start a presentation from the

current slide ?
(1) F5

(2) Alt+F5
(3) Shift+F5
(4) Ctrl +F5

What is the use of Notes in slides ?
(1) It will be displayed at the time of the
Slide presentation.

)

(3)

This is just a Note about the slide.
This is just for printing purposes
only.

Notes cannot be inserted in slides.

(4)
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79/ DB
Y. TS G0 SRF

(1) pdArfTgLnfnu
(2) pdATFTgLnfnu
(3) pdArTagLnnu
(4) pdArtaGLfnu

)f( T3 OBROD [WTeD TTY, X 3

TEO0E ROCIRG BP0 CINTITO ?

(1) @ =098, 233 ,8 8ees, ZoDd
R o

(2) G =g, T 3.8, Ay 8
gne3

(3) xG3 8 o8, BB IDE, TIVD
R

@) gm0 3,8 g7 3 o3, O
=08

y./ Bossew RAM WD / BFODR)
e C
WIRDEE 0% o RAM 1t Boedamd

L4

(1) 82z, aoos

(2) 32.12’, Sen

(3) sas, den

4) 3&!&1, ES T
563-p

(14)

82.
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5/ s3I 59 8311 BROOT BROOR.

T3 -1 T3 -11
A. 1 Bwoeder 1 1024
Sormefss:
B. 1nmegjer 1L 1024*1024
e,
C. 1doogjes L 1024*1024
soreees
D. 1dmgdes V. 1024 edooeds’
9 BT e:soi%ri@oc:f psfolendrin
SUZTR), SOR.
A BAY @ooD
(1) JPEB S Ve o STN]
2 v G 1 I 1
3) 1Iv e | ) ]
4) 1I IV HaT

DO’ JEESY,, TNV TFY @, FTs
SORODR) WERPTE, B womd
0" 3060 85 RRRITE T3 Toriorss
WP T, BT 0TS &0 R0 35°
— wOn SREoenEs.

(1) éamszd, %ﬂow

(2) PIoSAReES, Fpgorr

(3) VIoISReEI, Bredd

(4) Snew, gt

/ SrOTAT  dneEs wd  meorv

ROZaw ?D@Faqdaﬁ@x‘oqjdd; IR 33
W 00T TR, TN WHRHSROILS 2

(1) : 2) &
os [

3) % 4 $
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. ‘he key sequence for the word “M{-‘m@: 81.

Match List I with List II.
.1 Nudi 5.0 ekabhashe version is List I List II
A. 1Petabyte I 1024

1) pdAs g Megabytes

9) pdATFTgLnfnu B. 1Gigabyte II. 1024*1024

. Petabytes

(3) pdArTaglnnu C. 1Terabyte IIL 1024*1024
Megabytes

(4) pdArtaGLfnu

Eﬁ D. 1Zettabyte IV. 1024 Terabytes

Choose the correct answer from the

i ions given below :
79, What is the correct arrangement of options g

d q A B C D
memo es in decreasing order of
L : (I 1A% II I1I
ime ?
access fime @ v ' o -
(1) Hard Disk, Cache, Main Memory 3) IV I II I1I
@un 1 I I
(2) Hard Disk, Main Memory, Cache
(3) Cache, Hard Disk, Main Memory  ° 82. In MS Word, to use the Spelling and

: Grammar option, one has to click on the
(4) Main Memory, Cache, Hard Disk ol ithin the S
click on “Spelling and Grammar”.

(1) Design, Tracking

: ower
80. Dynamic RAM consumes _____P (2) Review, Proofing
8 tic
and is as compared to stall (3) Review, Compare
RAM.

(4) View, Language
(1) less, slower _ St o
83. The symbol that is generally use
(2) more. faster formula to specify about the fixed
column and rows is
18 (2) &

(4) more, slower (3) % 4) $
S63.p (15)

(3) less, faster
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84, BONSERY, BROON
(i) ROFEDANS 80T

ned a@u‘ﬂv

geﬁ'daigt VPR og* £

(if) SR, oY T
PATO B0

Qéeuﬁ TeHodhow

SOTTAECINE OFED
(iii) woﬁr@g&d;

TRET WETHSTS

RYRy, Poosr3es
(d) momdoonsy  (iv) 20T TRRBFIY

EvSle)7 WKLo

bajr {osebinn bl TOORF FBIVODTY

oS | TIWORT o8

OOIRE BRI SO :

(@ b (© @

(1) Gv) G @) (@)

(2 @Gv) @) (@) ()

@3) Gv) @) @) (i)

@) G @iD) @Gv) @)
9(. RoCING RO, IINITRY BROOR.
(a) aouoRer ovEpectt (i) 1994
(b) dper (i) 2003
() =m0 (iii) 1993
(d) et  (iv) 1995

(e) o=, (v) 2008
ROOIRT &30dOD) GON, -

@ ® © @ ()

(1) Gv) v @) (@) (iii)

@) @(v) (Gii) (i) () (v)

G) (v) GiD) () Gi) (v)

@) (v) Gi) () (v) ()
563-p

(b) B
WECOSENRLL

(c) oo Io0e
SRR

(16)

86.

87.

BN 03RO FOOIPNT ?
(1) adoee* eI ned SMTP
Zpetinesoerze) Bedomodnrogs

(2) POP egww POP3 oo IMAP
Q0T BBCNRT 2070 Tpetiners
R, WYRIRTEOOT  Woe*  WRTRY
aafdeer eI AFBORE 0

BortoRoOR Boeer TFTOT
(3) @deorsy AR  AWIDQTe
FHOETLBOT.

(4) Roeer Yoggroodd POP ey POP3
oo IMAP Q0w  8000eRT

TWpeLinesrs) wERbJIToom FHeer

we'RQ, et SoResiva)
R BORORTO B FOfROTO e
ajplef.iapicielafapla XA

FINS oY EDI Zeneosme ?

(1) X.12

(2) EDIFACT E.‘_f:!‘ii

(3) TCP/P

(4) X.400

FPNS odns ST Qe (protocol) S
FONIR, oTRE D Drdeea
RPBLO WERTORIT 2 '

(1) HTTP

(2) SNMP

(3) FTP

4) (1) &% (3) 0@
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¢i, Match the following : 86. Which of the following is true ?

(a) Protect () Feature that saves )
Sheet coples of your Hles (1) Email messages are stored in SMTP
at specified protocol.
intervals. (2) Mail servers receive and store email
(b) Track (i) Feature to list all messages in mailboxes by using a
Changes fi
& lles  that  were protocol called POP or POP3 or
recovered fro
= IMAP.
most recent time
when it was saved. (3) Email can be sent without the Email
(c) Auto - (ii1) Changes  made to address.
Recover the workbook will . | .
bebiahiichicd (4) Mail servers do not receive and do
e highlighted. : :
(d) Document (iv) Feature to prevent aoliBlar: . . clli FHloReEes Y In
Recovery worksheet by using mailboxes by using a protocol called
' a password. POP or POP3 or IMAP.

Choose the correct options :

@ B © @

(1) @Gv) (i) (i) (@) 87. Which of the following is not an EDI
o () (iv) (@i (@ (@) standard ?
& @) (v ) G (i) s

@ Gy @) Gv) @ o e

85. Match the following in correct order : (3) TCP/IP
i) 1994
(a) Internet Explorer (1) (4) X.400
(b) Chrome (i) 2003
(¢) Safari (iii) 1993
(d) Navigator (iv) 1995 88. Which of the following protocol is used
(¢) Lynx (v) 2008 for uploading and downloading the files ?

Choose the correct options :
@ ® @@ @ ©
(M) Gv) (v) (@) @ GiD) (2) SNMP
@) Gv) Gii) Gy @O
@) Gv) Gi) @ G
@ Gv) i) (i) » O (4) Both (1) & (3)
563.p (17)

(1) HTTP

(3) FTP
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ke

FENSTOOT ROOIRT Uﬁ%ﬁﬁa& (Sl
(1) (a), (b) DN (¢) BOOIRNT
@) (), (c) o8 (d) RoRNT
(3) (a), (b) DR (d) ROOPNTS
@ (a), (c) D (d) pfelevirtpiat

FINSTOOR FOCIRTOTRY, SOA :

MIME 230t -

(1) m%wwr#rao@sw Soeer av:&s"qla‘

2) DOTIFR  wouoIer  Hoees
aﬁ:}bﬁqda‘

(3) Yot QoLPIEF e’
DT I

(4) DOoDRRTT  RowTIeF  oeer
@Q&é@q&‘

SR TRRREV LHORTOI T
gosne  THT  JIR WDty
CHTINVT  WWPOIT Aeed 33
deunvd) wiNAEYW. ©gdom
oy P TIVDTT TROIRODTRO
ERE BROROJTE loeToBd adacfecﬁmg

BET,00D0F  WOPUT FoedNT awy
STBRF ENYE), 3rich T8I,

(1) w=eohgivr Hondmd, mows
(2) dezdess, TR,
(3) ouz, ARSI,

(4) wmthgws Dordr, cdwdess
563-P

(18)

2 6, 3w
f( s SADESEDD B BN OHRT ?{ Stermat, KBRS T
| Snenvad Letegs ? HorRy 83ING B SOR FEUONTR)

(@) 7 (t0) (b) woomd (save) DoRTE BeoRoRrRIE.
(C) cc (d) bee

(1) .wav files @3 .mid files

(2) .wav files 3030 .gif files

(3) .mid files &2 .jpg files

(4) .mid files 02 .gif files

}a;/ 9N Beorig Toness.

(a) wed Bty  FesbI=sBeodrt

(audience) TOWBRT LD )

WODRABE  WTEINY TS0

(Zlavp
RS ROIT.

-0

x:ueﬁo'a'% Beomen o

(b) PTFOE TNRFRAWES TS IR

Ao TRFWND), BB, IS

000 T WIRTINIT.
ROCIRT GodNTR), SOA.
(1) (a) RS FOTRNT
(2) (b) =R TORARNT
(3) (a) 032 (b) PTRP IOARNS

(4) (a) 0B (b) CINITR JOCXDAY,
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B39, Email Header is/are comprised of which 92. In Microsoft PowerPoint, the two types

of the following fields ? of sound effects files that can be added
). to to the presentation are

(b) save

(c) cc (1) .wav files and .mid files

(d) bee

Choose the correct options from the (2) .wav files and .gif files

following :

3) .mid fil d .jpg fil
(1) (a). (b) and (c) are correct. (3) .mid files and jpg files

(2) (), (¢) and (d) are correct.
(3) (a), (b) and (d) are correct.

(4) .mid files and .gif files

(4) (@), () and (d) are correct. Eﬁ;
90. Choose the correct one from the following : 93. Consider the following statements :

MIME stands for —

(1) Multipurpose Intranet Mail Extension.  (a) Notes pane allows you to add

(2) Multipurpose Internet Mail Extension. information or speaker notes that

(3) Multiuser Intranet Mail Extension. you want to share with audience.

(4) Multiuser Internet Mail Extension.
(b) Slide router view is the only view
91. _ views of the slide allowing the that is used in PowerPoint.
user to organize the order of the slides
prior to printing whereas view Choose the correct options :
removes all the distractions on a
: (1) Only (a) is correct.
webpage like ads, sidebars etc., 10 show
just the important content of the page.

(1) Slide Sorter, Reading

(2) Only (b) is correct.

(2) Outline, Normal (3) Both (a) and (b) are correct.

(3) Reading, Normal

(4) Slide Sorter, Outline (4) Neither (a) nor (b) is correct.
563-p (19)

e —

(¥ Scanned with OKEN Scanner



/ gpoRty ARIEOQ EBNRRNG
(1) serdner'E
(2) “’Lmﬁa‘@w
(3) W W

(4) DFT* WperEF

95. cssxg.s‘ NOTRE aﬁm;;:n eomodRe AT
serdner e S Dot By 8¢
(1) Ctrl+F4
(2) Alt+F4

(3) Shift +F4
(4) TR B,

% ST CIRTIRO SR, Bext T
SOOI ﬁoup@hcsos 35,5%?\53 ?

(1) Control + P =008 Bod%waaq
AoNenelad

(2) F5 m@oi:d;paﬁ 2TOPOBROT
EpleleiNZa)
(3) Shift + F5 wobd oo wsobpus
oows @Uozpmgz:?
(4) Control + H &, &resa* Roonexy
o,
ROTTNRIITS

}{ Ry, Iwr 2019 oY RETR?,

Toow Mg
.1 @ 12

(3) 115 4) 125
563-p
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0, sbee st A eeRdle AN R
(1) w9 piole i
(2) R pet
(3) BEF e

(4) e woBd,Fooe’

9}./ 308 IR Q0TTERD ?

(1) SOFELTRITON B 0L0r

BeORRT 00

(2) SogeesondwTen WO 030t

BeOReRT 50230 :

(3) SoogmermnR YR toRont Fwrt

BeOReRT 2023

(4) RoTeamROTN YT BeTLNE,

FedBeRT 9023

100. sudpeeay FOR { ;B ¢ IR R0
) o
WENRRRIIT
(1) MRS 8re3s Soeds
g
(2) MR IS A3, b
(3) (1) R (2) SoBR

(4) AT By,
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u4, - Where does the processor reside on ?
| (1) Keyboard

aprs@ Expansion slot

) ,.'__:'

5 3y Chip board

(4) Motherboard

o5, Keyboard shortcut to close the active

window is :
(1) Cul+F4 (2) Alt+F4

(3) Shift + F4 (4) None of these

9. Which of the following is false for
Microsoft Office PowerPoint?

(1) Control + P shows printing option
(2) FS starts from current slide
(3) Shift + F5 starts from current slide

(4) Control + H hides navigation

100.
buttons
Ii 9. Default font size in Microsoft Word
'a 2019 ig
'\ M 1n 2) 12
: B3) 115 @) 12.5
| :
$63.p

98.

99.

Component that is not used for mail

merge is

(1) Data source
(2) Merge fields
(3) Word fields

(4) Main document

What is gutter margin ?

(1) Margin that is added to the left

margin when printing.

(2) Margin that is added to right margin
when printing.

(3) Margin that is added to the binding

side of page when printing.

(4) Margin that is added to the outside

of the page when printing.

The AutoSum feature sums the cell

values

(1) Above the destination cell
(2) Left of the destination cell
(3) Both (1) and (2)

(4) None of these

@1)
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